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1 ROOT-FINDING FOR NON-LINEAR EQUATIONS

1 Root-finding for non-linear equations

4 )

Given a continuous function y = f(x), we find £ € D¢ such that

f(®) =0.

The value % is called root or zero of the function f.

(. J

1.1 Separation of roots

At first we have to determine number of roots and their positions, i.e. we need to find such
intervals that each of these includes only one root. We can use the following theorem.

~ Theorem

If the function f is continuous on the interval [a, b] and

f(a)-f(b) <0

then there is ¥ € (a,b) such that f(%) = 0.

| J

There are several ways how to find intervals such that each one of these includes only one
root.

e We plot the graph of the function f and find points of intersection of this graph and
the x-axis.

e We convert the equation f(x) = 0 into a form h(x) = g(x) and we find points of
intersection of graphs of functions / and g.

e We tabulate values of the function f a find where their signs change.

4



1 ROOT-FINDING FOR NON-LINEAR EQUATIONS

Example 1

Separate all roots of the equation

x> —1n(10 — x) = 0.

We convert the given equation into such form to be able to plot graphs of functions on both
sides of this equation.
¥ —In(10—x) =0
x> = In(10 — x)

We plot graphs of functions g(x) = x®and (x) = In(10 — x) and find points of intersection
of these graphs.

It is obvious that the point of intersection is unique and lies within the interval [1,2]. To
determine the root more precisely we tabulate function values of the function

f(x) = x® —In(10 — x) on this interval with the step 0.1. We round all values to two
decimal places.

X ‘ 1 1.1 12 13 14 15 16 17 18 19 2
f(x)|-119 -0.85 -0.44 0.03 059 123 196 279 3.72 476 592
We can observe that sings of these function values change between 1.2 and 1.3. The func-

tion f is also evidently continuous on the mentioned interval. So the equation
x> —In(10 — x) = 0 has unique root in the interval [1.2,1.3].

~ Example 2 \

Separate all roots of the equation

x —4cos?(x) = 0.

Use the MATLAB to solve the problem.

| J

We plot graph of the function f(x) = x — 4 cos?(x) and locate its point of intersection with
the x-axis. We plot the graph on sufficiently long interval that naturally must be a subset
of the function domain. We choose the interval [—10, 10].

>> fplot (@ (x)x—-4*xcos(x)."2,[-10,10])
>> grid on
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We can observe that all roots lie in the interval [0,4]. So we plot the graph once more only
on this shorter interval to determine the roots position more precisely.

>> fplot (@ (x)x—-4*cos(x)."2,[0,41)
>> grid on

There are three roots separated in intervals [1,2], [2,3] and [3, 4].

1.2 Bisection method

1) +(2) +(3)

The aim of all methods is to find a sequence of numbers x, %@ xB) . x(®) that con-

verges to the searched root ¥.

Assume that the root is separated in the interval [a, b]. We denote al) = a, ) = b, k=1
in the beginning of calculations.
We determine the value x(*) as the mid-point of the interval [2(K), 5(*], i.e.

o a® 4 b

X 2

The next interval is chosen in accordace with signs of function values f(a(¥)), f(x®)),
f(69).

If £(a®)) f(x8) < 0 then ak+D) .= g(k), plk+1) .= x(k),

If £(x5) £ (b)) < 0 then a®k+1) .= x (k) plkt1) .= (k)

Thus, we successively bisect intervals and their mid-points {x(X)} converge to the root #.
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Fork=1
Fork =2
Fork=3

The calculation is terminated when the given accuracy is obtained, i.e. when the following
holds

pk) — (k)
2

The last mid-point x(¥) approximate the searched root  with the accuracy e.

<e.

Example 3

Find all roots of the equation
x> —In(10 —x) =0

using the bisection method with the accuracy ¢ = 1072,

We already know that the root lies in the interval [1.2,1.3], i.e. al =12,p1) =13,

pM (1)
2

The approximation error is = 0.05 > ¢ = 1072 so we continue in calculations.

7



1 ROOT-FINDING FOR NON-LINEAR EQUATIONS

We calculate the first approximation x(1) as the mid-point of this interval:

X = =
2 2

=1.25.

Then we calculate values of the function f(x) = x*> — In(10 — x) at points a(!), x(1), p(1):

FaMy = —0446, f(xM)=—-02159, (M) =0.0337
and determine interval [a(?), b(?)]:

F) f0V) <0=a® =x =125, p@ =V =13,

. ) .y ) . )
The approximation error is bt )2”( ) — 0.025 > ¢ = 102 so we continue in calculations.

We calculate the second approximation

X(z) _ ll(z) + b(z) _ 1.25 + 1.3

=1.27
2 2 >

and determine interval [a(3), 5®)]:

f(a®)y =-02159, fF(x?)=-0.0935 f(b!?) =0.0337,

FE@) . %) <0=a® =x® =1275 p® =p? =13,
The approximation error is (3>§“(3) = 0.0125 > ¢ = 1072 so we continue in calculations.
We calculate the third approximation

L6 _ a® +b®)  1275+13

> > = 1.2875

and determine interval [a(4), b(¥)]:

F(a®) = —-0.0935, f(x®)=-00305 F(b®)=0.0337,
Fx®) F0®) < 0= a® = x® = 12875, b® = p® =13,

b4 _g4)
2

Because the approximation error fulfil = 0.0062 < ¢ = 1072, we can terminate our

calculations.
We calculate the last approximation

a® 4 b4 12875 +1.3

Y& — 5 > = 1.2938
k| a®  pa®y | x® fx®y | p® fp®) 60—
1 1.2 — 1.25 -] 13 + 0.05 > 102
2| 125 — | 1.275 -1 13 + 0.02 > 1072
3| 1.275 — | 1.2875 -1 13 + | 0.0125 > 102
4| 1.2875 — | 1.2938 + 113 + 1 0.0062 < 102

The resulting approximation of the given equation root is

¥ =129 +0.01.
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~ Example 4 \

Find all roots of the equation
2x+2—e* =0

using the bisection method with the accuracy ¢ = 1072
Use the MATLAB to solve the problem.

| J

The first step is to separate roots. We define function f and plot its graph on a sufficient
interval that we choose according to the domain of this function. Let us note that the
domain of the function f(x) = 2x +2 —e*is Dy = R.

>> =@ (x) (2xx+2-exp (X))
f =

Q(x) (2*xt2—exp (X))
>> fplot (f, [-5,4])
>> grid on

10+

-15

20+

5|

-30

-5 -4 -3 -2 -1 0 1 2 3 4

It is obvious that there are two points of intersection of the function f graph and the x-axis
included in intervals [—1,0] and [1,2].

Now we will calculate a root in the interval [1,2].

We input end-points of the interval as the variables a and b and set up the starting value
of the approximation index k.

>> k=0; a=1; b=2;
In each step we increase the index k by one, calculate x (k) and the approximation error.
We use the i f statement to choose an interval for the next step.

>> k=k+1

0.5000
>> 1f f(a(k))xf(x(k))<0, a(k+l)=a(k);b(k+1l)=x(k);
else a(k+l)=x(k); b(k+1l)=b (k) ;end
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We repeat the following four statements until the approximation error is less than the given
accuracy.

>> k=k+1

>> x(k)=(a(k)+b(k)) /2

>> (b(k)-a(k))/2

>> if f(a(k))~f(x(k))<0, a(k+l)=a(k);b(k+1)=x(k);
else a(k+l)=x(k); b(k+1l)=b(k);end

The given accuracy is achieved in the seventh step.

>> k=k+1
k =
7
>> x(k)=(a(k)+b(k)) /2
% =
1.5000 1.7500 1.6250 1.6875 1.6563 1.6719 1.6797
>> (b(k)-a(k))/2
ans =
0.0078

We write obtained data to a table.

k [pk) (k)|
x(6) >

1.5000 0.5 > 1072
1.7500 0.25 > 1072
1.6250 | 0.125 > 1072
1.6875 | 0.0625 > 102
1.6563 | 0.0313 > 1072
1.6719 | 0.0156 > 102
1.6797 | 0.0078 < 1072

NGl WD -

We round the last approximation to two decimal places according to the given accuracy.
The resulting approximation of the searched root is:

F=168+10"2

The second root lying. in the interval [—1, 0] can be found in analogous way. Approxima-
tions of all roots of the given equation are:

—0.77 +£1073, 1.68 £1072.

1.3 Newton method

2) x(3)

We find a sequence of numbers x0 x(1) x2) xB) . 1K) that converges to the searched
root %. The initial approximation x(?) is an arbitrary number from the interval [a, b] that we
obtain by previous separation of roots. The principle of the Newton method is to construct
a tangent line to the graph of the given function f at the point [x(?), f(x(9))]. The point of
intersection of this tangent line and the x-axis is the next approximation x(!). This process
is repeated until the given accuracy is achieved.

Let the following assumptions be fulfilled:

10
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1. the first derivative f” does not change sign on the interval (g, b)
(i-e. function f is either increasing or decreasing on (g, b));

2. the second derivative f” does not change sign on the interval (a,b) (i.e. function f is
either convex or concave on (a,b));

3. itholds f(a) - f(b) <0;

: f(a) ‘ f(b) ‘
4. it holds <b—a and <b-—a.
f'(a) f'(b)
Then the sequence {xk } calculated using the formula
L1 (k) f(x(k))
£ (x(R)
converges for an arbitrary initial approximation x(*) € [a, b].
Fork =0
0) 0)
x X
tangent line tangent line
Fork =1

angent line angent line

The calculation is terminated when the given accuracy ¢ is achieved, i.e. when

|x(k) — x(kil)’ g €.

Example 5

Find all roots of the equation
x> —In(10—x) =0

using the Newton method with the accuracy ¢ = 107°.

11
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We already know that the root lies in the interval [1.2,1.3] . In the beginning we have to
verity the Newton method assumptions, so we calculate the first and the second derivative
of the function f,

f(x) =x>—In(10—x), f'(x)=3-x>+ f'(x)=6-x+

10 — x’ (10 — x)?’

farther we check condition

f(a)
f'(a)
Thes condition is not fulfilled and that is why we have to shorten the interval in which the
searched root is separated.

B ‘ —0.4468

= | 1433¢ ‘:0.1008>O.1:b—a.

0.6

041

0.2

08}

11 115 12 125 13 135 14

We can see that the searched root lies in the interval [1.25,1.3]. Now we start to verify the
assumptions on the new interval [1.25,1.3]:

f(a) —0.2159
_ = 0.0450 < 0.05 = b —
f'(a) 4.8018 < .
f(b) | |00387) o
Fi(b)| = |5.18a9| = 00065 <005 =b—a

We tabulate values of the first and the second derivative rounded to two decimal place.

x| fi(x) f'(x)
125 | 480 751
126 | 488 7.57
127 | 495 7.63
128 | 5.03 7.69
129 | 511 7.75

13| 519 781

From the table we can deduce that
f’(x) > 0 on [1.25,1.3]

f"(x) >0o0on [1.25,1.3].

Thus, all assumptions of the Newton method are verified.
We choose the initial approximation x(¥) = b = 1.3.

12
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We calculate the first approximation x(1)

©
L o fG®) L 0.03367697433946

/(@) ~ 17 518494250873563 0 000000886

and the approximation error |x(!) — x(0)| = 0.007 > & = 10~°. Calculations must continue.

We calculate the second approximation x(?)
£ =S () _ 1.29350485098864 — L00016453367995 _ 4 59347280513989
a Fr(x®) 5.13432117883453

and the approximation error |x?> — x!| = 0.00003 > ¢ = 10~°. Calculations must continue.

We calculate the third approximation x®)
(2)
@) _ 0 _f (%) — 129347280513989 _ 0000000039178 ) 53 ) ne0436238
* Fix®) 5.13407205040059

and the approximation error |x(®) — x()| = 0.0000000008 = 8-10"10 < ¢ = 107°. The
given accuracy is achieved and calculations can be terminated.
We write obtained data into the table:

k| x®) | 20 _ (k1))
0 1.3 —
1| 1.29350485098864 0.007 > 10~
2 | 1.29347280513989 0.00003 > 10~
3 | 1.29347280436238 | 0.0000000008 < 10~6

The resulting approximation of the searched root is

£ = 1.293473 +107°.
~ Example 6 \

Find all roots of the equation
x —4cos?(x) =0

using the Newton method with the accuracy e = 1078.
Use the MATLAB to solve the problem.

| J

Due to previous separation we know that there are three roots in intervals [1,2], [2,3] and
3,4].

At first we attend to the root from the interval [3, 4].

We input end-points of this interval.

>> a=3;
>> b=4;

Then we calculate the first and the second derivative of the given function.
flx)=x— 4cosz(x)
f'(x) =1+ 8cos(x)sin(x)
f"(x) = —8sin?(x) + 8 cos?(x)

13
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>> df=Q (x)1+8+xcos (xX) .xsin (x)
df =
@(x)1+8%cos (xX) .*sin (x)
>> ddf=Q0Q (x)-8*sin(x) . 2+8*cos (x)."2
ddf =
Q(x)—8%sin(x) . 2+8xcos(x)."2

Now we can start verifying the assumptions.

We want to verify that values of derivatives do not change signs on the interval [3, 4].
Therefore we generate points from this interval with the step 0.1, input these as the vector
x and calculate corresponding values of the first derivative.

>> x=a:0.1:b

x =
Columns 1 through 6
3.0000 3.1000 3.2000 3.3000 3.4000 3.5000
Columns 7 through 11
3.6000 3.7000 3.8000 3.9000 4.0000

>> df (x)

ans =
Columns 1 through 6

-0.1177 0.6676 1.4662 2.2462 2.9765 3.6279
Columns 7 through 11
4.1747 4.5948 4.8717 4.9942 4.9574

However, the values of the first derivative change signs on [3,4], so we have to shorten the
interval of separation and to verify assumptions for this shorter one. We plot the graph of
the given function on [3, 4].

051

-1
3 3.1 3.2 3.3 3.4 35 3.6 3.7 3.8 3.9 4

It is obvious that the searched root lies in the interval [3.4, 3.6] where we again try to verify
assumptions.
We input end-points of the new interval.

>>

a=3.4;
>> b=3.6;

4

We generate points from [3.4, 3.6] with the step 0.01 and calculate values of the first deriva-
tive at these points

14
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>> x=a:0.01:b;

>> df (x)

ans =
Columns 1 through 6

2.9765 3.0456 3.1139 3.1814 3.2480 3.3138
Columns 7 through 12

3.3785 3.4424 3.5053 3.5671 3.6279 3.6877
Columns 13 through 18

3.7464 3.8040 3.8605 3.9159 3.9701 4.0230
Columns 19 through 21

4.0748 4.1254 4.1747

as well as values of the second derivative

>> ddf (x)

ans =
Columns 1 through 6

6.9552 6.8747 6.7915 6.7056 6.6170 6.5258
Columns 7 through 12

6.4320 6.3355 6.2366 6.1351 6.0312 5.9249
Columns 13 through 18

5.8162 5.7052 5.5919 5.4764 5.3587 5.2388
Columns 19 through 21

5.1168 4.9928 4.8668

We can see that both derivatives do not change signs on the whole interval [3.4,3.6].
The next step is to verify the condition f(a) - f(b) < 0 that guarantees the root existence.

>> f (a)*f (b)
ans =
-0.1299

In the end we check validity of conditions

f(a) _
f,(a)‘ <b—aand

fb) _
| <v-a

>> abs (f (a)/df (a))
ans =

0.1138
>> abs (f (b) /df (b))
ans =

0.0918

Both values are less than b —a = 3.6 — 3.4 = 0.2.

Thus, all assumptions of the Newton method are verified for the interval [3.4,3.6] and the
sequence of approximations will converge to the given equation root for an arbitrary initial
approximation x(0) € [3.4.3.6].

Because the given accuracy is 1078, we need to know all output values with higher preci-
sion. Thas is why we set up longer form of outputs using the statement format long.

15
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We input the initial approximation that can be arbitrary chosen from the interval [3.4,3.6].
We choose the left end-point that is saved as a.

>> format long

>> x0=a

x0 =
3.40000000000000

We calculate the first approximation and the approximation error. If this error is greater
than given ¢ then the calculation continue.

>> x1=x0-f (x0) /df (x0)

x1l =
3.51382505776211

>> abs (x1-x0)

ans =
0.11382505776211

We calculate next approximations and corresponding approximation errors. We test if the
error is greater than given ¢ in each step.

>> x2=x1-f (x1)/df (x1)
X2 =
3.50225628403900
>> abs (x2-x1)
ans =
0.01156877372312
>> x3=x2-f (x2)/df (x2)
X3 =
3.50214740099497
>> abs (x3-x2)
ans =
1.088830440254540e-004
>> x4=x3-f (x3)/df (x3)
x4 =
3.50214739121355
>> abs (x4-x3)
ans =
9.781422338761558e-009

We write the obtained data into a table.
k x(k) ‘ |x(k) — x(k_1)|

0 34 —
1| 3.51382505776211 0.11382505776211 > 10~8
2 | 3.50225628403900 0.01156877372312 > 10~8
3 | 3.50214740099497 | 1.088830440254540¢ — 004 > 10~8
4 | 3.50214739121355 | 9.781422338761558¢ — 009 < 10~8

The given accuracy ¢ = 108 is achieved in the fourth step where the calculation is termi-
nated. We round the value of x(4) to eight decimal places.

16



2 POLYNOMIAL INTERPOLATION

The resulting approximation of the searched root is
¥ = 3.50214739 £ 107°.

The other two roots can be found in analogous way. Approximations of all roots of the
given equation are:

1.03667388 + 1078, 247646805 + 1078, 3.50214739 + 1078,

~ Exercise 7

Find all roots of the equation
28 — x> —x—1=0

a) using the bisection method with the accuracy e = 1074,

b) using the bisection method with the accuracy e = 104, use the MATLAB to solve
the problem,

c) using the Newton method with the accuracy ¢ = 1078,

d) using the Newton method with the accuracy ¢ = 1078, use the MATLAB to solve
the problem,

e) using the bisection method and the Newton method, both with the accuracy
¢ = 10~*. Compare obtained results, use the MATLAB to solve the problem.

2 Polynomial Interpolation

4 )

The interpolation problem
Given n + 1 pairs (x;,y;) of distinct nodes x; and corresponding values y;, the problem
consists of finding a polynomial p, = p,(x) that fulfils the interpolation equalities

pu(xi) =y;, i=0,...,n,

i.e. a polynomial whose graph passes the given points.

- J

There exists unique interpolating polynomial of degree at most n. We introduce three dif-
ferent ways how to find this polynomial.

17



2 POLYNOMIAL INTERPOLATION

2.1 Interpolating polynomial in the standard form

The distinct nodes x; and corresponding values y;, i =0, ..., n are given.
Substituting the standard form of a polynomial

pn(x) = ag + arx 4+ axx® + - 4 a,x"
into the interpolation equalities p,(x;) = y; we obtain the system of linear equations
ao—i—alxi—i—ap_xiz—l— cedagxi =y;, i=0,...,n,

that can be written in the matrix form as

1 X0 x% e Xy ap Yo
1 x x ... xf m 1
1L x 23 ... 2. a|l=|wn
1 xy, x2 ... x! Ay Yn

The solution of this system of linear equations represents the coefficients ag, a1, ...,a, € R
of the interpolating polynomial.

~ Example 8

Find the interpolating polynomial in the standard form for the data

| J

We seek for a cubic interpolating polynomial

p3(x) = ag + a1x + axx® + azx®

that we substitute into the interpolation equalities p, (x;) = y;
p3(1)=2 = ag+a-14+ay-124a3-13=2
p3(4) =5 = ag+ay-4+ay-4*4a3-4°=5
p3(6) =3 = ag+ay-6+ay-6*4+a3-65=3
p3(9) =4 = ap+a;-9+ay-9*+a3-9°=4

The system of linear equations can be written in the matrix form:

111 1 ao 2
1416 64| [a| _ |5
1 6 36 216 al |3
1 9 81 729 az 4
We solve the system and we obtain the interpolating polynomial coefficients a9 = —2.6,

a; = 5.83, a; = —1.316, a3 = 0,083.
The resulting interpolating polynomial is (coefficients are rounded to three decimal places)

p3(x) = —2.6 + 5.833x — 1.317x% + 0.083x> .

18



2 POLYNOMIAL INTERPOLATION

= N W s 0

ix011§x1iix211;x31
't 2 34567 8 910

~ Example 9

Find the interpolating polynomial in the standard form for the data

i=0  i=1 i=2
X 0 3 4
Yi 2 1 5

Use the MATLAB to solve the problem.

|

>> x = [0; 3; 4]

>>y = [2; 1; 5]

>> M = [ones(3,1) x x.72]
>> a = M\y

>> format rat

>> a

>> plot(x,y,"0o")

>> grid on, hold on

>> p = @(x)a(l)+a(2)*x+a(3)*x."2;

>> fplot(p, [0 41, 'r’")

>> legend(’nodes’,’interpolating polynomial’)

2.2 Interpolating polynomial in the Lagrange form

The unique interpolating polynomial can be written in the Lagrange form

pu(x) = yolo(x) +y111 (x) 4 - + yulu(x),

where lp(x),11(x), ..., 1,(x) are the Lagrange basis of the interpolation problem, for
i=1,...,n:
) = B () ) (=)
l (xi —x0) -+ (xi — xi—1) (% — Xig1) - -+ (X7 — xn)
The Lagrange basis have the following properties for
i,j=1,...,m

e [;(x) is the polynomial of degree n,
li(xi)
e li(xj) = 0fori # j.

1,

19



2 POLYNOMIAL INTERPOLATION

~ Example 10 \

Find the interpolating polynomial in the Lagrange form for the data

i=0 i=1 i=2
Xi 0 3 4
Yi 2 1 5

Calculate the value of the polynom at the point x = 2.

| J

We write the Lagrange basis corresponding to single nodes:

(x—x1)(x—x2)  (x=3)(x—4) 1

o) = (xo—xi)(xo—azcz) = 0=n0=9 n* 3
(x —x0)(x — x2) (x—=0)(x—4) 1

h(x) =4 = xg)(x1 - ;z) ~Go0Gon 3 Y
(x—x0)(x—x1)  (x—=0)(x—=3) 1

h(x) (xz—xz)(xZ—chl) ~a—0@E—3 =%

The interpolating polynomial is

p2(x) = yolo(x) +y1l1(x) + y2la(x)

:2~%(x—3)(x—4)+1~ (—%x(x—él)) +5'411x(x—3)

1 1 5
= 6(x—?,)(x—zl) — gx(x—4) + Zx(x—?:).

The resulting form of the interpolating polynomial is

() = %(x _3)(x—4) — %x(x 4+ Zx(x _3).

We calculate the value of the polynom p; at the point x = 2.

Dy(2) = %(z _3)(2—4)— %z(z _4)+ Zz(z _3)

~ Example 11

Find the interpolating polynomial in the Lagrange form for the data

| J

The Lagrange basis corresponding to single nodes is:

(x—x1)(x —x)(x—x3)  (x—4)(x—6)(x—9) 1
() = e m) e ~ DA a9 ~ 1~ HE-0E-9),
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2 POLYNOMIAL INTERPOLATION

 (x=x)(x—x)(x—x3)  (x—=1)(x—6)(x—9) 1

h(x) = (xl—xoo)(xl—xz)(ﬁ—?;%) (-1 -6)4-9) 3l¥ ~ D=6 x=9),
 (x=x0)(x —x1)(x — x3) (x=1)(x—4)(x—=9) 1

h(x) = (xz—xoo)(XZ—xll)(xz—ic;;) = 6-D6-D6-9) s NE-4x-9),
B (x —x0)(x — x1)(x — x7) _(x—l)(x—4)(x—6) 1

B(x) = (xg—xoo)(xg,—;l)(xriz) = O-nNE—5H©_6 10 DE=Hx-06)

The interpolating polynomial is:

p3(x) =yolo(x )+y111( ) + y2la(x) + yala(x)
=2 (= D= 6)x=9) ) 5+ 35~ 1)(x— 6)(x ~9)

+3-(—%(x—1)( 4)(x—9)>+4 %(x—l)( _4)(x—6)
1
60"

4 31—O(x—1)(x—4)(x—6)

~4)(x—6)(x 9 + g(x—D(x—6)(x—9) ~ s (x~ (¥~ 4)(x )

The resulting form of the interpolating polynomial is

pa(x) == s (x—4)(x — 6)(x —9) + L (x — 1)(x —6)(x ~9)

1 1
— E(x—l)(x—4)(x—9) + %(x—l)(x—4)(x—6)

2.3 Interpolating polynomial in the Newton form

The interpolating polynomial of degree n in the Newton form is defined by the formula

pn(x) =yo + flx1, x0] (x — x0) + flx2, %1, %0} (x — x0) (x — x1)
+ flxs, x2, x1, x0] (x — x0) (x — x1) (x —xp) + - - -
+ flxn, - x0](x — x0) (x — x1) -+ (¥ — x-1),

where f[x1, xo] is the 1st divided difference, f[x,, x1, x| is the 2nd divided difference, up
to f[xn,...,x0] is the n-th divided difference.

Example for n = 4.
The interpolating polynomial in the Newton form for n = 4 is defined as

pa(x) =yo + fx1, x0](x — x0) + f[x2, 21, x0] (x — x0) (x — x1)
+ flxs, x2, x1, x0](x — x0) (x — x1) (x — x7)
+ flxg, x3, %2, x1, 0] (x — x0) (x — x1) (x — x2) (x — x3) .

The calculation of the divided differences for n = 4 is realized in the following table:
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2 POLYNOMIAL INTERPOLATION

1st 2nd 3rd 4th
il Xy f[xi+1/xi] f[xi+2/ xi+11xi] f[xi+3,xi+z, xi+1/xi] f[xi+4/ Xit3,Xit+2, xi+1,xi]
0|x0 folflxy,xol =1 flx2, x1,x0] = flxs, x2,x1, x0] = flxa, x3,x2,x1, 0] =
_ 1=y _ floml=flax] | _ flxsxaxa]=flxaxixo] | flxa,Xsx0,x1]—flxs,%2,%1,%)]
X1—Xp X2 —X0 X3—X0 X4—X0
1| x fil| flxa,x1] = flxs, x2,x1] = flxa, x3, %2, x1] =
_ —h _ flxsxo]—flam] | _ flxaxsxo]—flxs,x011]
Xp—Xq X3—X1 X4—X1
2\ x2 fol flas, x2] = | flxa, x3,x2] =
— Y312 _ flxaxs]—flx3,%)]
X3—Xp X4—X2
3| x3 fa3| flxax3]=
— Ya—VYs
X4—X3
4 X4 f4
~ Example 12 \

Find the interpolating polynomial in the Newton form for the data
i=0 i=1 =2

xi |0 3 4

fil2 1 5

|

The calculation of the divided differences is realized in the following table:

i|x yi|1st 2nd
1 13

12

3
4

N = O
B~ W O
g o~ N

Using the values from the first row of the table we can write the interpolating polynomial.

pa(x) =2 3(x—0) + 2 (x—0)(x ~3) =2~ 2x+ Dx(x ~3)
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2 POLYNOMIAL INTERPOLATION

|

~ Example 13

Find the interpolating polynomial in the Newton form for the data

i=0 i=1 =2
|0 3 4
fil2 1

Use the MATLAB to solve the problem.

>>
>>
>>
>>
>>
>>
>>

>>
>>
>>
>>
>>
>>
>>

~ Exercise 14

x=[0,3,4];
y=1[2,1,5];

format rat
n=length (x);
df0=y;

for i=1:n-1,dfl (1)
for i=1:n-2,df2 (1)

(df0 (i+1)-df0 (1)) /(x(i+1)-x(i));end
(df1 (i+1)-dfl(i))/(x(i+2)-x(1i));end

format short

xg=x(1):0.01:x(3);

yg=df0 (1) +dfl (1) * (xg—x(1))+df2 (1) * (xg—-x (1)) .* (xg—x(2));
plot (x,y, " go’)

hold on

plot (xg,y9)
legend (' nodes’,’ interpolating polynomial’)

Find the interpolating polynomial for the data

i=0 i=1 i=2 i=3

x|/0 1 3 5
yil2 3 0 3

a) in the standard form,

b) in the standard form, use the MATLAB to solve the problem,
¢) in the Lagrage form,

d) in the Lagrange form, use the MATLAB to solve the problem,
e) in the Newton form,

f) in the Newton form, use the MATLAB to solve the problem.
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

3 Approximation by the least-squares method

e N

The approximation problem
Given n pairs (x;,y;) of distinct nodes x; and corresponding values y;, the problem con-
sists of finding a function ¢(x) that fulfils

px;)~y, i=1,...,n.

3.1 Linear approximation

Assume we are given n pairs (x;,y;), i = 1,...,n of distinct nodes x; and corresponding
values y;. We want to find such values c1, ¢; € R, that the linear function ¢(x) = ¢ + cxx
is the best approximation of the given data in the least-squares sense.

Ya

o(x)
Yap-—-------—-—-—=
I
I
|
Yap------- ) :
! |
! |
! |
Yij--+ | !
I | )
Y21--A--- : !
| 1 H !

| | [

X1 X2 X3 Xy ' x

The following figure illustrates the given data and a straight line that represents the searched
linear function ¢(x) = ¢1 + cox.
YA

Ya |l __ _ _ _____________
plxg) [~ 7T

Yo === *
P(x3) [-=======---~

X1 X2 X3 X4 >x
We want to find the coefficients cj, ¢y of the linear function ¢(x), for which the sum of

areas of squares in the figure above is minimized. Because the area of the i-th square is
(c1 + c2x; — y;)?, we are looking for a minimum of the price function

n

D(cy,00) = Y (c1+cx; — yi)?.
i=1
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

The price function ® is quadratic, therefore its minimum exists and is unique.
We are to solve the problem to find a minimum of the function of two variables.
The minimum [c1, c3] of the price function ® must fulfil the equations

d
a_cch(Cl’CZ) =0,

)
a—CZCD(Cl, Cz) =0.

Having calculated the partial derivatives we obtain

n

2 Z(Cl +cxi —y;i) =0,
i=1
n

2 Z(cl +cox; —yi)x; =0,
i=1

that is the system of linear equations for the unknown coefficients cy, cy:
n n n
1) 1+c) x=)Y v,
i=1 i=1 i=1
n n ) n
€1 in-f-cz in = inyi/
i=1 i=1 i=1

This system is called the normal system of equations and can be rewritten in a matrix

form:
n n n
Y1 ) x Y Yi
i;l ijl . < 1> — ilzl
C

Yoxi Y] N Y yixi

i=1 i=1 i=1
~ Example 15 \

Approximate the data from the table

|2 112
yi|10 4 6 3

in the sense of the least-squares method by the function

p(x) = c1 + cox.

| J

We write the normal system of equations in the matrix form
4
)i
i=1
4
Z YiXi
i=1
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

and calculate the sums:

1=1+1+1+1=4

NS

1

~.

-

~
I
[y

Xi=—2+4(-1)+1+2=0

(=2 + (=12 +12+2> =10

gl
=

<Jo
|

~.

M-I

N
I
—_

10+4+6+3=23

Yi
4
Y yixi =10 (=2)+4-(-1)+6-1+3-2=—12
i=1

The normal system of equations is:

4 0\ (a1 _ (23
0 10 )  \-12
The unique solution of this system is ¢; = 24—3, 0= — g.

Therefore the linear function that represents the best linear approximation of the given data
in the least-squares method sense is

23 6
=2 Cx=575-12x.
¢(x) 1 ¥ 5.75 X

0
9
8
A
5
4
3
2
1

\

32-10 12

~ Example 16
Approximate the data from the table

|2 112
yi |10 4 6 3

in the sense of the least-squares method by the function

@(x) = c1 + cox.

Use the MATLAB to solve the problem.

| J
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

>> x=[-2 -1 1 2];

>> y=[10 4 6 3];

>> n=length (x);

>> M=[n sum(x); sum(x) sum(x." 2)];
>> v=[sum(y); sum(y.=*x)];

>> c=M\v;

>> hold on

>> plot (x,y,"ro’)

>> xg=x(1):0. Ol x(n);

>> yg=c (1) +c(2) xxg;
(

>> plot (xg,v9g)

3.2 Approximation by two functions

Assume we are given n pairs (xi,y;), i = 1,...,n of distinct nodes x; and corresponding
values y; as well as two functions ¢1(x) a ¢2(x). We want to find such values c1,¢; € R,
that the function ¢(x) = c191(x) + c2¢2(x) is the best approximation of the given data in
the least-squares sense.

Analogously to the case of linear approximation, we obtain the unknown coefficients
c1,¢2 € R as the minimum of the price function

n

D(cq,02) Z c191(x;) + 292 (x;) — vi)?,
i=1

i.e. as the solution of the normal system of equations

n n
a ) (p1(x) +c2 Y g1(xi) - ga(x:) Zyz ¢1(xi),
o .:1
ln 1 n
c1 ), ¢a(
i=1

xi) - ¢1(xi) +c2 i (p2(x:))* = Y yi- a(x;)

i=1 i=1

or in the matrix form

n n

Y (@) Y gi(xi) - galx) S yi- g1 (x)
i=1 =1 , (Cl) — =1
E(PZ(xi)'(Pl(xi) Y (@2(x)) 2 Y vt @a(xi)

i=1 i=1
For example, if we want to approximate by the function

¢(x) = c1x% + ¢y sin(x) ,

then the normal system of equations is:

clzx —|—c22x sin xl :Zyxz,
i:1

c1 Z x?sin(x;) + co Z sin?(x;) = Z y; sin(x;)
i=1 i=1 i=1
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

or in the matrix form
n n
Z Xj Z xl2 sin(x Z yix?
(1) _ i=1
@)=
Y yisin(x;)
i=1

~ Example 17

Approximate the data from the table

|1 2 3 5 7 10
yi|0 3 5 8 8 7

in the sense of the least-squares method by the function

¢(x) = c1In(x) + coxx.

|

We write the normal system of equations in the matrix form
6 6
Zlnz(xi) in In(x;)
i=1 i=1

6 6
Z x; In(x;) x?
= =1

1

6
Zyi In(x;)
@-"
6
Zyixi
i=1

and calculate the sums:

Zln x;) =In*(1) +1n?(2) 4+ In?(3) + In?(5) 4+ In?(7) + In?(10) = 13.3662

Z xiln(x1) =1-In(1) +2-In(2) +3-In(3) +5-In(5)
i=1

+7-In(7) + 10 - In(10) = 49.3765
6
Y a7 =12 4224 3% + 5 + 7% + 10> = 188

i=1
6
Y yiln(x;) =0-In(1) +3-1n(2) +5-In(3) 4 8 - In(5)
+8-In(7) +7 - In(10) = 52.1334

6
Y yixi=0-1+3-24+5-3+8-5+8-7+7-10=187
i=1
The normal system of equations is:

13.3662 49.3765\ (c1) _ (52.1334
49.3765 188 ) \ 187
The unique solution of this system is ¢c; = 7.5896, c; = —0.9987.

Therefore the best approximation of the given data in the least-squares method sense has
the form

¢(x) = 7.58961 In(x) — 0.9987x .
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

2345678910

N O—LNWHROINN]

~ Example 18 \
Approximate the data from the table

|1 235 7 10
yi|0 3 58 8 7

in the sense of the least-squares method by the function

¢(x) = c1In(x) + cpxx.

Use the MATLAB to solve the problem.

| J

>> x=[1,2,3,5,7,10]

>> y=10,3,5,8,8,7];

>> n=length (x) ;

>> M=[sum(log(x). 2 sum(log(x)+*x); sum(x.*xlog(x)) sum(x."2)];
>> v=[sum(y.*log(x)); sum(y.*x)];

>> c=M\v

>> hold on

>> plot(x,y, " ro’)

>> xg=x(1):0.01:x(n);

>> yg=c (1) *log (xg) +tc (2) *xg;
>> plot (xg, yg)

3.3 Approximation by k functions

Assume we are given n pairs (x;,y;), i = 1,...,n of distinct nodes x; and correspond-
ing values y; as well as k functions ¢1(x), @2(x), ..., x(x). We want to find such values
1,C2,...¢¢ € R, that the function ¢(x) = c1¢1(x) + cap2(x) + - - - + cx@x(x) is the best
approximation of the given data in the least-squares sense.

These coefficients ¢y, ¢y, . . ., cx € IR we obtain as the solution of the normal system of equa-
tions

n n n n

1 1 (1 (x)” e 1 1 (31) - 9aox) + 09 0 91 (x) - s (30) -+ i 1 () - ()

n
=Y vi-¢1(x),
i=1
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

n

c1 Z ¢2(x;) - @1(x;) + 2 i (92(x:))* + 3 i P2(x;) - @3(x;) + -+ i P2(xi) - pr(xi)

i=1 i=1 i=1 i=1

n

1) or(xi) - 91(xi) + 2 i Pr(xi) - @2(xi) + c3 i Pr(xi) - @3(xi) + e Y (gr(x))?
i=1 i=1 i=1 i=1

For k = 3: We want to find the values c1,¢3,¢3 € R for the function ¢(x) = c1¢1(x) +
co¢2(x) + cxp3(x). The normal system of equations is

n n n

c Z ((Pl(xi))2 +0 Z @1(x;) - @2(x;) + 3 Z ¢1(xi) - @3(x;) Zyz P1(x;i),
i=1 i=1 i=1

a1 Y oa(xi)  pr(x) + 2 Y (92(x1)* +c3 Y p2(x) - @3(x7) Zyz ¢2(xi),
i=1 i=1 i=1

c1 ) ¢a(xi) - ¢
i=1

%) - g1(x1) + 2 ; o3(x1) - 92(x1) + 3 é(gog(xmz - ;yi - 93(x)

or in the matrix form

il P1(x;)) ilfpl - @a(x;) i(m(xi) - 3(x;) iyi - 1(x;)
nZ: = n l? c l?
,Z% @2(x;) - p1(x;) 21 (p2(x:))? 21 ¢2(x;) - @3(x;) | - (C;) = 2%‘ - @2(x;)
E = =, ) |5
;%(xz') - p1(x;) ;(P3(xi) - ¢2(x;) ; (ga(x:))? ;yi - ¢3(x;)

~ Example 19

Approximate the data from the table

x |1 23 5 7 10
yi|0 3 58 8 7

in the sense of the least-squares method by the function

@(x) = c1 + cx + c3x°.

|

We write the normal system of equations in the matrix form
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3 APPROXIMATION BY THE LEAST-SQUARES METHOD

6 6 6 6
Y1 Y w Yo Y. i
Zgl izl izl C1 16:1
Z; X; Z% xl2 Z; xf’ el = Z% Yix;
i= i= i= c3 =
6 6 6 6
_inz ﬁx? > X ﬁw&z

<
I
=
~
I
—_
-~
I
=
<
I
—_

and calculate the sums:

6
Y 1=1+1+1+14+1+1=6
i=1

6
Y x=1+2+3+5+7+10=28
i=1

6
212422432 452+ 72410 = 188

1

~
—_

[o)}

2 =13+ 25+ 3%+ 55+ 7% 1 10° = 1504

~
—_

4 =14 424 43t 5t 4 74 1 10% = 13124

1

MO\

~
Il
—_

6
Y yi=0+3+5+8+8+7=31
i=1

6

Y yixi=0-14+3-2+5-3+8-54+8-7+7-10 =187

i=1

6

Y yix;=0-1>+3-224+5.3°4+8-5"+8- 72+ 7-10° = 1349
i=1

The normal system of equations is:

6 28 188 . 31
28 188 1504 | - (Cl> — | 187
188 1504 13124 2 1349

The unique solution of this system is c; = —2.63963, c; = 3.16090,
cz = —0.22163.
The best quadratic approximation of the given data in the least-squares method sense) has

the form
¢(x) = —2.63963 + 3.16090x — 0.22163x2 .

RN W10V

12345678910
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4 APPROXIMATION BY THE LEAST-SQUARES METHOD

~ Example 20

Approximate the data from the table

|1 23 57

10

yi|0 3 5 8 8

7

in the sense of the least-squares method by the function

@(x) = c1 + cx + c3x°.

Use the MATLAB to solve the problem.

|

>>
>>
>>
>>

>>
>>
>>
>>
>>
>>
>>

~ Exercise 21

x=[1,2,3,5,7,10];

y=[0,3,5,8,8,7];

n=length (x);

M=[n sum(x) sum(x. 2); sum(x) sum(x.
sum(x.”3) sum(x."4)];

v=[sum(y); sum(y.*Xx); sum(y.*x."2)1;
c=M\v

hold on

plot (x,y,’ro’)

xg=x(1):0.01:x(n);

yg=c (1) +c (2) »xg+c (3) xx."2;

plot (xg,vyg)

"2) sum(x. 3); sum(x.

Approximate the data from the table

xi\ 1 2 35 45 6

7 75

yi‘4.2 5 55 7 78

85 8.1

in the sense of the least-squares method

a) by the linear function

C(x) = ay + apx,

b) by the function

¢(x) = bi1e* + byx,

c) by the quadratic function

0(x) = c1 + cox + c3x>.

Compare the obtained results both graphically and numerically.
Use the MATLAB to solve the problem.
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4 NUMERICAL DIFFERENTIATION

4 Numerical differentiation

4.1 The first derivative

Given distinct nodes x; and corresponding function values f(x;) of a function f, the prob-
lem is to approximate values of the first derivative f'(x;) at the given nodes. Because the
value f’(x;) is the slope of the tangent line to the graph of the function f at the point
[x, f(x;)], we can approximate it by a slope of a proper secant line.

Using a secant line corresponding to nodes x; and x;,1 we obtain the forward difference

f/(xi) ~ fxip1) — f(xi) .

Xit1 — Xi

secant line

tangent line

Xi Xit1

Using a secant line corresponding to nodes x;_; and x; we obtain the backward difference

secant line

tangent line

- — — — — — — — — — —

Y
v

Using a secant line corresponding to nodes x;_; and x;; we obtain the central difference

f/(xi) ~ f(xi+l) _f(xifl) )

Xit1l — Xi—1

secant line

tangent line

Xi—1 Xi Xi+1

In practice, the central difference is usually the most accurate approximation of the deriva-
tive value.
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4 NUMERICAL DIFFERENTIATION

~ Example 22 \

Approximate the derivative of the data

i=1 =2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

using the forward difference.

| J

We calculate the approximate value of the derivative y'(x1)

_yz—yl _50—40_

1
X2 — X1 1-0 0’

y'(x1)

approximate value of the derivative y'(x3)

/ _yg—y2_20—50__
y(x2)_x3—x2_ 2—1 = =30,

approximate value of the derivative y'(x3)

_y4—y3 25—20_

! _
y<x3)_X4—X3— 3—-2 _5’

approximate value of the derivative y'(xy)

_Ys—ya _30-25

/
y(X4) X5—X4_ 4 -3 =5

Table of the obtained approximate values of the derivatives at the nodes:

x| 0 123 4
y(x) |10 -30 5 5 —

The approximate value of the derivative y’(x5) cannot be calculated by the forward differ-
ence because there is no following node there.

~ Example 23

Approximate the derivative of the data

i=1 i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

using the backward difference.

| J

We calculate the approximate value of the derivative y/(x2)

_Y2—y1 _50-—-40

! = = 10,
y(xz) X2 — X1 1-0
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4 NUMERICAL DIFFERENTIATION

approximate value of the derivative y'(x3)

oy Y3 —Yy2 20-50
y(x3)_x3—x2_ 2—-1 =30,

approximate value of the derivative y'(x4)

_ys—yz 25-20

/
y(x4)_x4_x3_ 3_2 _5/

approximate value of the derivative y'(xs)

_y5—y4_30—25_

/
y(x5)_x5—x4  4-3 =5

Table of the obtained approximate values of the derivatives at the nodes:

x| 0 1 23 4
y(x)|— 10 -30 5 5

The approximate value of the derivative y'(x1) cannot be calculated by the backward dif-
ference because there is no previous node there.

~ Example 24

Approximate the derivative of the data

i=1 i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

using the central difference.

| J

We calculate the approximate value of the derivative y'(x;)

Y3 —1 20—40

/ — —
y(x2) x3—x; 2—0 10,
approximate value of the derivative y'(x3)
! _]/4_}/2_25_50__§__
Y (x3) = i 3.1 2 12.5,
approximate value of the derivative y'(x4)
/ _y5—]/3_30—20_
y(JC4) N X5 — X3 a 4—2 =5

Table of the obtained approximate values of the derivatives at the nodes:

w0 1 23 4
v(x)|— -10 -125 5 —

The approximate values of the derivatives y'(x1) and y’(x5) cannot be calculated by the
central difference because there are no required near by nodes there.
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4 NUMERICAL DIFFERENTIATION

~ Example 25 \
Approximate the derivative of the data

i=1 i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

using the central difference at the interior nodes, the forward difference at the first node
and the backward difference at the last node.

| J

All needed approximate values of the derivative i’ (x;) were calculated in previous exam-
ples.
Table of the obtained approximate values of the derivatives at the nodes:

xi| 0 1 2 3 4
¥ (x) |10 -10 -125 5 5

~ Example 26
Approximate the derivative of the data

i=1  i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

using the central difference at the interior nodes, the forward difference at the first node
and the backward difference at the last node.
Use the MATLAB to solve the problem.

| J

>> x=[0 1 2 3 4];
>> y=[40 50 20 25 301];

>> n=length (x);

>> yd(1)=(y(2) - ( )/ (x(2)-x(1));

>> for i1i=2:n-1, yd(i)=(y(i+l)-y(i-1))/(x(i+1)-x(i-1)); end
>> yd(n)=(y(n) y(n 1))/ (x(n)-x(n-1));

4.2 The second derivative

Given distinct nodes x; and corresponding function values f(x;) of a function f, values of
the second derivative f”(x;) at the given nodes can be approximated by the formula:

F1(x;) ~ fxip1) = 2f(xi) + f(xi1) .

(xit1 — x;) (% — xi-1)

36



4 NUMERICAL DIFFERENTIATION

Xi—1 Xi Xit1

If the nodes are equidistant with the step / then the formula above can be simplified to the

form:
F1(xi) ~ fxig1) — ZfPE;i) +f(xia)

~ Example 27

Approximate the second derivative of the data

i=1 i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

| J

We calculate the approximate value of the second derivative y” (x;)

=22 +11 20 —2-50+40
M xs) = Y3 Y2 _ — _40,
V) = e ) - @D 0)
approximate value of the second derivative y” (x3)
—2y3 + 25—-2-20+50
yll(x3) — ( Ya Y3 T Y2 o — 35,

Xy —x3)(x3—x2)  (3-2)(2-1)
approximate value of the second derivative y” (x4)

ys—2ys+ys  30—2-254+20
X5 — X4)(X4 —X3) (4—3)(3—2)

Table of the obtained approximate values of the second derivatives at the nodes:

}/H(X4) = (

x| 0 1 23 4
y'(xj) | — -40 35 0 —

~ Example 28

Approximate the second derivative of the data

i=1 i=2 i=3 i=4 i=5

x| 0 1 2 3 4
y; |40 50 20 25 30

Use the MATLAB to solve the problem.

| J
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>> x=[0 1 2 3 4];

>> y=[40 50 20 25 301];

>> h= 1;

>> n=length (x)

>> for 1=2:n-1, ydd(i)=(f(x(i+1))-2*f(x(1))+f(x(i-1)))/(h"2); end
~ Exercise 29

The data are given in table:

X; 2 4 6 8 10 12 14
yi | 124 53 32 45 71 86 116

a) Approximate the derivative of the data using the central difference at the interior
nodes, the forward difference at the first node and the backward difference at the
last node.

b) Approximate the derivative of the data using the central difference at the interior
nodes, the forward difference at the first node and the backward difference at the
last node. Use the MATLAB to solve the problem.

c) Approximate the second derivative of the data using the central difference at the
interior nodes, the forward difference at the first node and the backward difference
at the last node.

d) Approximate the second derivative of the data using the central difference at the
interior nodes, the forward difference at the first node and the backward difference
at the last node. Use the MATLAB to solve the problem.

5 Numerical integration

We calculate the value of the definite integral

/abf(x) dx.

5.1 The rectangle rule

We approximate the function f by the constant interpolating polynomial pg(x) with the
node xy = ”‘Zib.
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5 NUMERICAL INTEGRATION

f(x)
f (%52
L~ po(x)
:a ém -b>
2

This approximation can be integrated analytically and we obtain the rectangle rule:

ha = 6= 0)f (757

~ Example 30

Evaluate the definite integral

6 x
d
/0 1+22%"
using the rectangle rule.

| J

X
Wehavea =0,b =6and f(x) = i

The rectangle rule.

a+b 3
o = 6= 0)f (157 ) = (6-0/3) = (6~ 0,
18
=10 1.8
~ Example 31 2

Evaluate the definite integral

6 x
d
/0 1+22%
using the rectangle rule.
Use the MATLAB to solve the problem.

- J

>> f=Q(x)x./(1+x.72);
>> a=0; b=6;
>> I=(b-a)*f((atb)/2)

5.2 The trapezoidal rule

We approximate the function f by the linear interpolating polynomial p1 (x) with the nodes
Xo =a,x; =Db.
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5 NUMERICAL INTEGRATION

The linear approximation can be also integrated analytically and we obtain the trapezoidal

rule:
lrap = 5% (£0) + 0)).

~ Example 32 \

6 x
d
/0 1+22%"
using the trapezoidal rule.

| J

Evaluate the definite integral

X
1+ x2°

Wehavea =0,b =6and f(x) =

The trapezoidal rule.

" (fla)+ £ 0) = 22 (£(0) + £(6))

2
0 18
<1+02 1+67-> = 37 = 04865

~ Example 33 \

6 x
/0 T+ dx
using the trapezoidal rule.
Use the MATLAB to solve the problem.

| J

Itrap —

Q)

Evaluate the definite integral

>> f=Q@(x)x./(1+x.72);
>> a=0; b=6;
>> I=(b-a)/2x(f(a)+f (b))

5.3 The Simpson’s rule

We approximate the function f by the quadratic interpolating polynomial p,(x) with the
nodes xp = a, x; = ”b , X = b.
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5 NUMERICAL INTEGRATION

The quadratic approximation can be also integrated analytically and we obtain

fome = g (F0) 447 (57 ) +5(0)).

~ Example 34 \

Evaluate the definite integral

6 x
—d
/0 1+22 %"
using the Simpson’s rule.

| J

X

Wehavea =0,b=6and f(x) = 52

The Simpson’s rule.

Isins =2 (f(a) +4f (242) +£)) = 2 Z2(7(0) +47(3) + £6))
0 3 6 12 6
_1 <1+02+41+32+1+62> =0+ 35 + 35 = 13622
~ Example 35 \

Evaluate the definite integral

6 x
d
/0 1+
using the Simpson’s rule.
Use the MATLAB to solve the problem.

| J

>> f=Q(x)x./(1+x.72);
>> a=0; b=o6;
>> I=(b-a)/6x(f(a)+4xf((a+b)/2)+f (b))

5.4 The composite rectangle rule

If we want to integrate the function f over the interval [a, b] using the composite rectangle
rule, we have to divide the given interval into n equidistant subintervals of the length
h = (b — a)/n with the nodes

x;=a+1ih,i=0,1,...,n.

41



5 NUMERICAL INTEGRATION

Icr

Xo Xotx X1 xibu X mim X3 xbn ¥4

2 2 2 2

The formula of the composite rectangle rule with the step / is then of the form
. +
Xi— Xi
Ier =h)_ f(557).
i=1

~ Example 36 \

1
l/ e’ dx
1

using the composite rectangle rule for n = 4.

| J

Evaluate the definite integral

b—a

=05 and we obtain the nodes xy = —1,

We equate n = 4, so that the step is h =
X1 = —0.5, Xy = 0, X3 = 0.5 axqg = 1.

Icr = hléf (JC’%HZ)

= (P + F(352) + F(2252) 4 f(2p4))
— 0.5(e70.75 + e70.25 + e0.25 + e0.75) = 23261.
~ Example 37 \

1
/ e dx
-1

using the composite rectangle rule for n = 4.

Evaluate the definite integral

Use the MATLAB to solve the problem.

| J

>> £ = @ (x)exp(x)

>> a = -1; b =1;

> n = 4; h = (b-a)/n;
>> xmid = a+h/2:h:b-h/2;
>> y = f(xmid);

>> I=h*sum(y)
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5 NUMERICAL INTEGRATION

5.5 The composite trapezoidal rule

If we want to integrate the function f over the interval [a, b] using the composite trape-
zoidal rule, we have to divide the given interval into n equidistant subintervals of the
length h = (b — a)/n with the nodes x; =a+ih,i =0,1,...,n.

The formula of the composite trapezoidal rule with the step h is then of the form

n—1
Ier = g (f(xo) +2 Z%f(xi) +f(xn)> :

~ Example 38 \

1
/ e’ dx
-1

using the composite trapezoidal rule for n = 4.

| J

We equate n = 4, so that the step is h = b—a — (.5 and we obtain the nodes xo = —1,

X1 = —05,x =0,x3=05ax, = 1. !

Evaluate the definite integral

n—1
Ier = g (f(xo) +2 Z% f(xi) +f(xn)>

=5 (f(x0) +2(f(x1) + f(x2) + f(x3)) + f (xn))
_ %(e_l +2(e705 + e+ ) 4 el) = 2.3992,

~ Example 39 N

1
/ e’ dx
-1

using the composite trapezoidal rule for n = 4.

Evaluate the definite integral

Use the MATLAB to solve the problem.

| J

>> = (@ (x)exp(x);
>> = -1; b = 1;
>> = 4; h = (b-a)/n;

>> = f(x);

f
a
n
>> x = a:h:b;
Yy
>> I=h/2x(y(1l)+2+sum(y (2:n))+y (n+l))
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5 NUMERICAL INTEGRATION

5.6 The composite Simpson’s rule

If we want to integrate the function f over the interval [4, b] using the composite Simpson’s
rule, we have to divide the given interval into n equidistant subintervals where 7 has to be
an even number. The length of each subinterval is 1 = (b — a)/n and we obtain an odd
number of the nodes x; = a+ih,i=0,1,...,n.

f(x)

b — — — o ——

I
I
3 }
X2 X3 X4

=
<)

=
-

The formula of the composite Simpson’s rule with the step & is then of the form

I n—1 n—2
=2 s e T sz T e+ )
ile?eil 110:0131
~ Example 40 )

Evaluate the definite integral

1
/ e’ dx
—1

using the composite Simpson’s rule for n = 4.

| J

We euate n = 4, so that the step is h = bn;“ = 0.5 and we obtain the nodes xp = —1,
X1 = —0.5, Xy = 0, X3 = 0.5 a Xy = 1.
h n/2 n/2-1
les = 3 | f(x0) +4 ) flxaia) +2 ) f(xa) + f(xam)
i=1 i=1

O WS

(f(x) 4(f(x1) + f(x3)) +2f (x2) + f(x4))
5( U4 4(e705 + e02) 4 280 + el) = 2.3512.

1
/ e’ dx
-1

using the composite Simpson’s rule for n = 4.

~ Example 41

Evaluate the definite integral

Use the MATLAB to solve the problem.

| J

>> £ = (@ (x)exp(x);

>> a = -1; b = 1;

> n = 4; h = (b-a)/n;

>> x = a:h:b;

>>y = £(x);

>> I=h/3*(y(1l)+4xsum(y (2:2:n))+2+sum(y(3:2:n-1))+y (n+l))
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5 NUMERICAL INTEGRATION

5.7 The evaluation of the integral with the given accuracy

We calculate the approximate value Ij, of the integral using the integration formula with
the step h. Consequently, we calculate the approximate value Ij,/, with the half-length step
h/2. We stop the calculation, if the following holds

|Ih — Ih/2| S E.

The composite trapezoidal rules forn = 1,2,4

| 0 o0l oo (]
| | 1h!h1h!h1h!h1h!h1>
X0 X1 X2 X0 X1 X2 X3 X4 Xo X1 X2 X3 X4 X5 Xg X7 X8

~ Example 42 .

Evaluate the definite integral
¢ Inx

———dx
1 V9 —x2

using the composite Simpson’s formula with the given accuracy ¢ = 1075,
Use the MATLAB to solve the problem.

| J

We define the function f and input the limits of integration as the variables a, b.

>> £ = Q@(x)1log(x)./sgrt(9-x.72);
>> a = 1;
>> b = exp(l);

We set n = 2 in the first step. We input the vector of the nodes as the variable x.

>> n = 2;
>> h = (b—-a)/n;
>> X = a:h:b;

>>y = £(x);

Because we aim at the accuracy 1078, we can not take up with the four decimal places that
the MATLAB display in the standard short format. We have to switch the output format
to long.

>> format long
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5 NUMERICAL INTEGRATION

We calculate the approximate value of the given integral and input it as the variable Inew.

>> Tnew =
Inew =
0.52733592

h/3x (y(1)+4*xsum(y(2:2:n) ) +2+sum(y (3:2:n-1))+y (n+1))

We save the obtained value as the variable I. Then we double the value of 7 and repeat all
calculations. Finally we evaluate the error approximation |I;, — Ip|

>> 1 = Inew;

>> n = 2%n

n =

>> h = (b-a)/n;

>> x = a:h:b;

>>y = £ (x);

>> Inew =

Inew =
0.51036199

>> Error = abs(Inew-1I)

Error =
0.01697393

h/3x (y(1)+4*xsum(y (2:2:n) ) +2+sum(y (3:2:n-1))+y (n+1))

We repeat the previous seven statements till the error is greater than 108.
We round the result to eight decimal places and write it as

e Inx

—=d
1 V9 —x2

Iy

I, — Ly

64
128
256
512

0.52733592
0.51036199
0.50708297
0.50665442
0.50661499
0.50661211
0.50661192
0.50661191
0.50661191

0.01697393
0.00327902
0.00042855
0.00003943
0.00000288
0.00000019
0.00000001
0.00000000

~ Exercise 43

x = 0.50661191 &= 1078,

e = 10~% = 0.000000001

> 1078
> 108
> 108
> 108
> 1078
> 108
> 108
<1078

Evaluate the definite integral

3 X d
/1 x24+x+3 :

a) using the composite trapezoidal rule for n = 4 and for n = 8, compare the results,

b) using the composite trapezoidal rule for n = 4 and for n = 8. compare the results,
use the MATLAB to solve the problem,

¢) using the composite Simpson’s rule for n = 4 and for n = 8, compare the results,
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6 NUMERICAL SOLUTION OF ORDINARY DIFFERENTIAL EQUATIONS

use the MATLAB to solve the problem,

d) using the composite trapezoidal formula with the given accuracy ¢ = 104, use the
MATLAB to solve the problem,

e) using the composite Simpson’s formula with the given accuracy ¢ = 10~8, use the
MATLAB to solve the problem.

| J

6 Numerical solution of ordinary differential equations

[ The initial-value problem for the ordinary differential equation |
We find the continuous function y = y(x) that on the interval [a, b] fulfil the differential

equation
y' (%) = f(xy(x))

and the initial condition

y(a) =c.

(& J

To solve the problem numerically we divide the interval [a, b] into n equidistant subinter-
vals of the length i = (b — a) /n with the nodes xop = a,x1,x2,...,x, = b, i.e.

x;=a+ih, i=0,1,...,n.

h h h h

—_————————&— 00— P
X0 X1 X2 X3 b=xy

To these nodes we assign values yo = ¢, y1,Y2,...,Yn that approximate values of the ana-

lytical solution y(xo),y(x1),y(x2), ..., y(xn).
Thus the numerical solution of the initial-value problem is a set of n + 1 discrete points

[xi;yi],izo,l,...,n.

R A AT TATA A TA T
AT VAT TATA WA A T
Vig=r<ext NN N N NN ~—
=NV NN NN\ N——
/—\*\\\\\\—/
/—=>~2" NN\ \N\~—~

/S = ~~YX N\ \\N\N——/
/=X N\ \\~— -~/

V2L demsh s sy N —~— /
c=1Yp //\r\\\,\\~///
L/ ——t+~~+~——_-//

Y3 _/.././.—lrh_\.*_:\—_./..'// /
A et s AN
1724==3=2377

7 7 Ll
a = Xxg X1 X2 b=ux3 X

6.1 Euler method

At first we calculate the nodes

x;=a+1ih, 1=0,1,...,n.
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6 NUMERICAL SOLUTION OF ORDINARY DIFFERENTIAL EQUATIONS

We consider the differential equation

y'(x) = f(x,y(x)),
in a node x; and we replace the accurate value of the solution y(x;) by its approximation

Yi-

Next we approximate the derivative on the left side using the numerical formula

v(x) = fly(x) ~ TEZH = ).

If the values x;, y; are known, we can calculate an unknown value y; 1
w = f(xi, 1)
Yiv1 —Yi =h- f(xi,y)
Vit1 =Yi+h- f(xi,y)

The initial value yy is given by the initial condition and the other values y;,1 we can calcu-
late by the derived formula.

Yo=¢
fori=0,...,n—1
Yiy1 = Yi+hf(xi,yi),
~ Example 44

Solve the initial-value problem

Y =x*-02y, y(-2)=-1

on the interval [—2, 3] using the Euler method with the step = 1.

| J

At first we specify the number n of subintervals into which we divide the given interval
[, b]

_b—a 3-(-2)
n= P 1 = 5.

Then we calculate the nodes:
Xo=a=—2
x1=a+h=-2+1=-1
Xp=a+2h=-2+2=0

x3=a+3h=1
X4 =a+4h =2
X5 = a-—+ 5h =3
The value yp = —1 is given by the initial condition, other values y; fori = 1,...,5 can be

calculated by the formula y; 11 = y; + hf (x;, y;).
There it holds f(x,y) = x> — 0.2y and & = 1, so the computational formula is of the form:

Yis1 = Yi +x7 — 0.2y,
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6 NUMERICAL SOLUTION OF ORDINARY DIFFERENTIAL EQUATIONS

yo = —1 (given initial value)

y1=yo+hf(xo,v0) = yo+ x5 —02yg = —1+ (—2)>—02-(—1) =3.2
Yo =y1+hf(x,y1) =y1 +x3 —02y; =32+ (-1)2-02-32 =356
Y3 = y1 +hf(x2,y2) = yo + x5 — 0.2y, = 2.848

ys = y1 +hf(x3,y3) = y3 + x5 — 0.2y3 = 3.2784

ys = y1 + hf(xg,y4) = ya + x5 — 0.2y4 = 6.6227

In the end we write the calculated values of the obtained numerical solution of the initial-
value problem to a table

xi|-2 -1 0 1 2 3
yi | —1 32 356 2848 32784 6.6227

and plot the graph of this numerical solution:

Y5 Fo-mmmm e — - 9
|
|
|
|
|
V2 !
=Y ---—-= = !
- - |
: Y1 73 ? ! :
| | ] |
| | I |
| | I |
I | ] |
I 1 I ,
X =4a I | ! | ‘x
: X1 X2 X3 X4 x5 = b »>
e ] Yo=¢
~ Example 45 \

Solve the initial-value problem
Y =x*-02y, y(-2)=-1
on the interval [—2, 3] using the Euler method with the step h = 1.

Use the MATLAB to solve the problem.

| J

>> a=-2; b=3; c=-1;

>> f=0Q(x,y) (x.72-0.2xy);

>> h=1; n=(b—-a)/h;

>> x=a:h:b;

>> y(1l)=c;

>> for i=1l:n, y(i+l)=y(i)+hxf(x(1i),yv(i)); end
>> [x;v]

>> plot(x,y, 'b.-")
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6 NUMERICAL SOLUTION OF ORDINARY DIFFERENTIAL EQUATIONS

6.2 Heun method
The equidistant nodes are the same as for the Euler method, i.e.
xi=a+1ih, i=0,1,...,n

The value yj is also given by the initial condidion yg = c.

The method principle is that for every i = 0,...,n — 1 the value y; is already known and
the value v, is to be found. In contrast to the Euler method, in each step we first have to
evaluate auxiliary constants ki, k; and next we calculate the value y; 1 from these:

Yo=c¢
fori=0,...,n—1
k1= hf(xi,yi)

k2 = hf(xi -+ h/yi + kl)
1
YVis1 = Yi+ E(kl +k2)

~ Example 46

Solve the initial-value problem

Y =x*-02y, y(-2)=-1

on the interval [—2, 3] using the Heun method with the step h = 1.

| J

At first we calculate the number of subintervals into which we divide the given interval
[a,b]

_b—a 3-(-2)
n= " 1 =5

and the nodes
Xo=a=—2

x1=a+h=-2+1=-1
Xp=a+2h=-24+2=0

x3=a+3h=1
Xg=a+4h =2
Xs=a+b5h=3.
The initial condition determine the value yyp = —1. In following steps we first evaluate

constants k1, k, and using these we calculate the required value y; 1.
yo=—1 (initial condition)

Since it holds f(x,y) = x> — 0.2y and h = 1 in this example, the calculations look like as
follows:

fori=0
ki = hf(xo,y0) =1-((=2)* =02 (~1)) = 42
ko =hf(xo+hyo+k)=1-((—24+1)2-02-(-1+42)) =0.36

1 1
v1="Yo+ E(kl +ky) =—-1+ §<4'2 +0.36) = 1.28
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fori=1
ki =hf(xy,y1) =1-((=1)>—02-1.28) = 0.744
ky=hf(xr+hy1+k)=1-((-1+ 1)2 —0.2-(1.28+0.744)) = —0.4048
Yo =1y1+ %(kl +ky) =128+ %(0.744 + (—0.4048)) = 1.4496
fori =2
k1 = hf(xz,yz) = —0.2899
k2 = hf(xz + h, Y2 + kl) = 0.7681
1
Y3 =Yz + E(kl + k) = 1.6887
fori =3
k1 = hf(X3, yg) = 0.6623
ko = hf(x3+h,y3 + ki) = 3.5298
1
Ya =Y3+ E(kl + kz) = 3.7847
fori =4
k1 = hf(X4, ]/4) = 3.2431
ky = hf(X4 +h, Y4 + kl) = 7.5944
1
Y5 = Y4+ §(k1 + ko) =9.2035

We write the obtained numerical solution values to a table:

x| =2 —1 0 1 2 3
y; | —1 12800 1.4496 1.6887 3.7847 9.2035

~ Example 47

Solve the initial-value problem
Y =x*-02y, y(-2)=-1

on the interval [—2, 3] using the Heun method with the step h = 1.
Use the MATLAB to solve the problem.

|

>> a=-2; b=3; c=-1;

>> f=0Q(x,y) (x.72-0.2xy);

>> h=1; n=(b-a)/h;

>> x=a:h:b;

>> y(1l)=c;

>> for i=1:n,
kl=hxf(x(1i),vy(i));
k2=h+f (x (1i+1),y (i) +kl);
y(i+1l)=y (i)+1/2% (k1+k2);

end
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6 NUMERICAL SOLUTION OF ORDINARY DIFFERENTIAL EQUATIONS

6.3 Runge-Kutta method RK4

The equidistant nodes are the same as before, i.e.
x;=a+1ih, i=0,1,...,n

and the value y is again determined by the initial condition yo = c.

The method principle is that for every i = 0,...,n — 1 the value y; is already known and
the value y; is to be found. Analogous to the Heun method, in each step we first have to
evaluate auxiliary constants ky, k2, k3, k4 and next we calculate the value y;, 1 from these:

Yo=c
fori=0,...,n—1 ki =nhf(x;,y;)
1 1
k2 = hf(xl- 4+ Eh,yi + Ekl)
1 1
ks = hf(x; + Shyi+ Ekz)

ky = hf(xi+h,yi+ks)
1
Yis1 = Yi + g(kl + 2ky + 2k3 + ky).

~ Example 48 \

Solve the initial-value problem
Y =y-x"+2, y(0)=-1

on the interval [0, 2] using the Runge-Kutta method RK4 with the step & = 0.5.

| J

We calculate the number of subintervals into which we divide the given interval [a, D]

b—a 2-0

"= =75 ¢

and the nodes
Xo=a=0

x1=a+h=0+05=05
Xp=a+2h=0+1=1
x3=a+3h=1+15=15
x4 =a+4h=0+2

The initial condition determine the value yp = —1. In consequent steps we first evaluate
constants ky, ky, k3, k4 and using these we calculate the required value y; .

yo=—1 (initial condition)

Since it holds f(x,y) = y — x> + 2 and h = 0.5 in this example, the calculations look like as
follows:
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fori=0

ki = hf(xo,y0) = 0.5

ko = hf(xo + 2, yo + 3k1) = 0.5938

ks = hf(xo+ 1h,yo + 1ka) = 0.6172

ka = hf(xo+h,yo + k) = 0.6836

y1 = Yo+ (kg + 2k + 2k3 + ky) =

= —1+ 1(0.5+2-0.5938 + 2 - 0.6172 + 0.6836) = —0.3991

fori=1

ki = hf(x1,y1) = 0.6755

ko = hf(x1 + 3h,y1 + ki) = 0.6881

ks = hf(x1+ 3h,y1 + 3k2) = 0.6912

ky = hf(x1+ h,y1 + ks) = 0.6461

Yo = y1 + L(ky + 2k + 2k + ky) = 0.2809
fori =2

ki = hf(x2,y2) = 0.6405

ko = hf(x2 + 3h,y2 + 1ky) = 0.5193

ks = hf(xa + 3, y2 + ko) = 0.4890

ks = hf(x2+ h,y2 + ks) = 0.2600

Y3 =y + L(ky + 2k + 2k + ky) = 0.7671
fori =3

ki = hf(xz,12) = 0.2586

ko = hf(x3+ h,y3 + k) = —0.0830

ks = hf(x3 + 3h,y3 + ko) = —0.1684

ky = hf(x3+h,y3 + k3) = —0.7007

Ya = Y3+ L(ky + 2k + 2k + ky) = 0.6096

We write the obtained numerical solution to a table

X; 0 0.5 1 1.5 2
yi | =1 —0.3991 0.2809 0.7671 0.6096

and plot this solution graph:

y A
Y3 |----------- A
L e G-
! |
R T
Xo=4a | | \ o
! X2 X3 Xg="D Tx
io|---#
Yo=c¢
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~ Example 49

Solve the initial-value problem

vy =y—x"+2, y(0) =~

on the interval [0, 2] using the Runge-Kutta method RK4 with the step 1 = 0.5.
Use the MATLAB to solve the problem.

|

>> a=0; b=2; c=-1;

>> f=0Q(x,y) (y—x."2+2);

>> h=0.5; n=(b-a)/h;

>> x=a:h:b;

>> y(1)=c;

>> for i=1l:n
kl=h+f(x(1i),y(i))
k2= h*f(x(l)-l—h/Z yv(i)+1/2+k1l);
k3=h+f (x(1)+h/2,y(i)+1/2xk2);
kd=h*f (x (i) +h,y (i) +k3);

y(i+1)=y (1) +1/6% (k1+2+k2+2xk3+k4);
end

~ Exercise 50

Solve the initial-value problem

,:3y—2x
x4y’

y(3) =2

on the interval [3, 6]

a) using the Euler method with the step h = 0.5,

lem,

lem,

solve the problem,

graphically, use the MATLAB to solve the problem.

b) using the Euler method with the step i = 0.5, use the MATLAB to solve the prob-
¢) using the Heun method with the step 1 = 0.5, use the MATLAB to solve the prob-
d) using the Runge-Kutta method RK4 with the step h = 0.5, use the MATLAB to

e) using the Euler method and the Runge-Kutta method RK4 both with the same
step h = 0.5, compare values of both numerical solutions in a table as well as
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